
Research Question

Student Name – Idea 1 | definition of A, B, C, E action (A,B,C from Bayesian model taxonomy) 

How does supply chain differ in academia, biotech, semiconductor industry (increasing hardwareness)

Hypotheses

Testing

Data/Methods

Motivation

Angie Idea 1 supply chain in industries with different hardwareness

Verify table’s each cell via interview of  at least three experts from each industry (academia from etom seminar)

Investigate how industry hardwareness affects startup’s value creation operation



Research Question

Student Name – Idea 1 | definition of A, B, C, E action (A,B,C from Bayesian model taxonomy) 

How does capacity management differ in academia, biotech, semiconductor industry (increasing hardwareness)

Motivation

Angie Idea 2 capacity management in industries with different hardwareness

Investigate how industry hardwareness affects startup’s value creation strategy

Hypotheses

Testing

Data/Methods Verify table’s each cell via interview of  at least three experts from each industry (academia from etom seminar)



Research Question

Student Name – Idea 1 | definition of A, B, C, E action (A,B,C from Bayesian model taxonomy) 

How does reinvest reinforcing loop differ in academia, biotech, semiconductor industry (increasing hardwareness)

Angie Idea 3 reinvest reinforcing loop in industires with different hardwareness

Motivation

Hypotheses

Testing

Data/Methods Verify table’s each cell via interview of  at least three experts from each industry (academia from etom seminar)

Investigate how industry hardwareness affects 

- startup’s value capture 

- social inefficiences from “backlogs” devleoped need, solutions, method that are not 
assembled to be productized



Research Question

Student Name – Idea 1 | definition of A, B, C, E action (A,B,C from Bayesian model taxonomy) 

Can we decrease social inefficiences from “backlogs”?

Angie Idea 4 infrastructure and capital in industires with different hardwareness

Testing

Data/Methods

Motivation

Hypotheses 1. society level of  mismatch ratio between “Used product” and 
“Unused product” can be measured 

2. industry hardwareness affects startup operations, hence affects 
ecosystem’s strategy to lower mismatch ratio


3. infrastructure reinforcing loop may take a longer time but is 
more effective in decreasing mismatch ratio than capital 
investment reinforcing loop. This gap would be more salient in 
industry with higher hardwareness 

Investigate how industry hardwareness affects backlog elimination 
strategies in ecosystem

measureing mismatch ratio (e.g. user innovations that are not commercialized by Eric von Hippel’s help)


